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Name:

Ice Cream Umbrella
Add the fractions. Then solve the riddle by 
matching the letters to the blank lines below. 

Why did the ice cream carry an umbrella?

E 1__
5

3__
5+ =____

I 6__
12

5__
12+ =____

A 3__
9

4__
9+ =____

S 6__
10

3__
10+ =____

R 1__
8

4__
8+ =____

N 5__
11

3__
11+ =____

C 1__
11

3__
11+ =____

A 4__
7

2__
7+ =____

C 1__
4

2__
4+ =____

P 2__
6

3__
6+ =____

E 1__
5

2__
5+ =____

F 1__
3

1__
3+ =____

L 4__
9

4__
9+ =____

H 5__
10

2__
10+ =____

K 2__
9

3__
9+ =____

O 2__
11

4__
11+ =____

N 3__
12

4__
12+ =____

S 1__
7

3__
7+ =____

Because there was
7__
9

3__
4

7__
10

6__
7

8__
11

4__
11

4__
5

5__
6

5__
8

11__
12

7__
12

6__
11

2__
3

4__
7

5__
9

8__
9

3__
5

9__
10

.
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7__
9

3__
4

7__
10

6__
7

8__
11

4__
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4__
5

5__
6

5__
8

11__
12

7__
12

6__
11

2__
3

4__
7

5__
9

8__
9

3__
5

9__
10

.



ANSWER KEY

A C H A N C E

O F S P R I N K L E S
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4__
11

7__
9

4__
5

3__
5

5__
9

6__
7

9__
10

11__
12

2__
3

6__
11

3__
4

5__
8

8__
11

8__
9

7__
12

5__
6

7__
10

4__
7

RB


